| Efficiency vs Dxy |

> 0.1¢

< F : : : : : : : : :
o - . . . . . . . . .
L A St S S
<N - T T I S R R
0 HRGAas & L0 SIS MUY SRS S S
K S S S | N S S S S
D07
KT S S A A I S A S A
e I A S
FYUS R
710 O A e
003l

1113 0
O e
o+

Rati

=
!

09 56-16-10 =5 0 5 10 15 20 25

TP dxy (cm)

—=— DQM_V0001_R000000001__Global _CMSSW._100ti

| Efficiency vs Dz |

—— DQM_V0001_R000000001__Global__CMSSW._100timeHPTT

N 0.5
o

798 SN N U N N
&> F : : : : :
B O
Q r : : : : :
.35 oo o oo R R
o F : : : : :
R s T e
] e 2 Eo B e
T e o o o~
1] S O S St |
T a0 [ TSt RIS & S 1 SO
00151 SEERRSRNEE SONY [ SN | SN SE
E|||| 11 1' Ilr—*- o, *+|i|||| 11 1 1
o-Or :
c I :
x | :
1:0 --------- - ------ * Y IXT TETEETREPE
0930 =20 -10 0 10 20 30

TP dz (cm)



	Contents
	Page 1


